
2

Ø8*30

D 18x

27000,00

2

4

6

3

5

7

8

9

10

11

12

13

14

1336*335*22

661*313*16

661*332*16

661*332*16

661*295*16

1336*335*22

677*303*2,5

677*356*2,5

590*308*16

340*271*16

250*120*16

300*100*16

250*120*16

1x

1x

1x

1x

1x

1x

2x

2x

1x

2x

2x

2x

2x

12333

12335

12337

12334

12336

12338

12339

12340

12341

12342

09200

12343

09202

2/2

2/2

2/2

2/2

2/2

2/2

1/2

1/2

2/2

2/2

2/2

2/2

2/2

E 16xB 4x G 24x
Ø3,5*16

F 24x

22244,01 70013,01 70021,01

1380

1384

762

ID ID

16x

7

50553,00

3

kg

6

8

15

12

16x
Ø7x50   

22300,00

8xI

22705,00

Ø6,3x8   

4xJ
M4x12

22502,00

2xN

33030,00

16

11

13
14

2x

30090,00

15 345*175*16 1x12344 1/2

17

18

19

20

21

22

310*256*2,5

345*480*16

345*480*16

740*640*22

1350*148*22

1380*650*22

2x

1x

1x

1x

1x

1x

12346

12347

12348

12349

12350

12351

2/2

1/2

1/2

1/2

1/2

1/2

16 345*175*16 1x12345 1/2

12xP
Ø3,5x15   

22243,00

12xQ

35101,01

R 4x

36001,01

4xS

36001,01

SK NÁVOD NA MONTÁŽ
CZ MONTÁŽNÍ NÁVOD
HU SZERELÉSI UTASÍTÁS
DE MONTAGEANLEITUNG

180 min PZ 2,1 3m

C
LE

AN

4

21

9

22

18

19

20

10xK
Ø2,5x16   

22236,00

L 10x
3,0

24008,00

1 2 3 4 5 6 7 8 9

8

10

kg

O 8x 1xT

31099,00

11

9

M 8x
Ø4x25   

22430,00

U 4x

32030,00

V 8x
Ø4x25

22250,00

W 4x
Ø10x11   

24091,00

X 2x
M6x50

22441,00

Y 8x

30080,00

Ø44x15   

Z 4x

60028,02



4

10mm

FRO
NT

FRO
NT

180°

6

7

5

3

Ø8*30

D 16x F 8x 8xI
Ø6,3x8   

2xN 12xQ 4xS

180°

G 8x

FRO
NT

FR
O

NT
FR

O
NT

4

5



21

22
20

10mm

Ø8*30

D 2x G 8xF 8x2x 8xP
Ø3,5x15   

R 4xM 4x
Ø4x25   

U 2x W 4x
Ø10x11   

18

19



2

2

6

3

3

4 2

5

4

Ø7x50   

8x

4

5

6

V 8x
Ø4x25

Y 8x
Ø44x15   

40

25

40

25

365,00 mm 356,00 mm 615,00 mm



START MIN MAX

8

7
8

PZ 1

8
9

9

9

1510.60mm

14x 10xK
Ø2,5x16   

L 10x
3,0

8

9



START MIN MAX

8mm

4

12

14

15

16

17
17

17

13

M 4x
Ø4x25   

U 2x
Ø7x50   

8x2x 8xF
Ø3,5*16

8xG4xB

434 mm

11

2
2

11

43

12

15

1743
4m

m

16



START MIN MAX

18

11

START MIN MAX

20

21

15

10

E 16x 4xJ
M4x12

kg
kg

kg

16

kg

11
19

22

1.

2.

3.

4.



20

22

22

kg

kg

20

4xP
Ø3,5x15   

1xT

X 4x
M6x50

Z 4x

40mm

O 8x


